N
KS1 SATS style aural

questions

1. What is 74 subtract 2? Write your answer in the box.

()

2. If 53 is made up of 50 and 3, what is 48 made up of? Write your
answer in the box

3. Here is a glass of juice. How much juice do you thinR is in the
glass? Five centimetres, two Rilograms, three hundred millilitres,
four metres Circle the measurement you thinR is correct.
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4. How much of this shape is shaded? Write your answer in the
box.

5. One booR is 10cm wide. The other booR is 30cm wide. How much
wider is the second book than the first? Write your answer in the
box.
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